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HOMEWORK -2 MCOS - POLYNOMIALS

If one zero of the polynomial (4° +9)x* +13x + 64 1s a reciprocal of the other, then a 1s
a) | b)3 ¢)12 d)19
If 2 and 3 are the zeros of the quadratic polynomials x* +(a +1)x + b, then the value of at+b is

a) -5 b)0 ¢)6 d) -6
A quadratic polynomial whose zeros are reciprocals of the zeroes of the polynomial:
f(x)=ax’ +bx+c,a#0,c#0
1, , 1, ., | I 5
a) E(cx +bx+a) b) E(cx —bx+c¢) c) E(cx —bx—a) d) E(—cx +bx+a)

If p and g are the zeroes of ax* —bx+c.a # 0, then the value of p + g is

booe d b
a)ﬂ )ﬂ C)ﬂ )&'

The zeroes of the quadratic polynomial 2 L 7y 410 are

Zeroes the polynomial 442 _9 are

a) i% b) i% c) i% d) none of these

The value of k such that the polynomial x° —(k + 6)x +2(2k —1) has sum of its zeros equal to
half of their product is

a) 3 b) 5 c)7 d)none of these

The value of k, if _4 is a zero of polynomial x* —x—(2k+2) is

a) 5 b)6 c)7 d)9

If & and g are the zeroes of polynomial 252 _ 3y 41, then find a quadratic polynomial whose

zeros are 3¢ and 3/ 1s

a) %(3x3+5x—5) b) %(312—5x+5) c) %(2x2+91+9) d) %(2x2—9x+9)

If the degree of polynomial p(x) in n, then the maximum number of zeroes it can have is:
a)n b)n®* c¢)n’ d)none of these

If & and g are zeroes of polynomial 2  gx+9. then a polynomial whose zeroes are —«
and — f1s

a)x?-6x+9 b) x*+6x-9 ¢) x*+5x+4 d)none of these

It a,p are the zeros of x2 _ g6y + k , then the value of k when -+ —- 2@ 1s:

a) 13 b) _14 c)I5 d)-16
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If « and g are the zeroes of the polynomial 552 — 7x — 2, the sum of the reciprocals of zeros
1S

7 7 S S
a)E b)_E c)a d) )
If the sum and the product of the zeroes of the polynomial p(x)=4x* —27x+ 3k’ are equal,
then the value of k 1s

a)+2 b)) +3 c) +5 d) +1

If a,p are the zeroes of the polynomial x2 _ 45 + 3, a quadratic polynomial whose zeroes are
3¢ and 38 is

a) x> +8x+17 b) x> +12x+27 C) x> —12x+27 d) x* —8x+17

The value of k such that 352 4 2jx — k — 5 has the sum of the zeroes as half of their product 1s:

a) % b) g c) g d) g

I 1

If @ and B are the zeroes of the polynomial 442 + 3y +7, the value of E+ F; 1S

1 =8 s SR
973 P 93 &
If @« and g are the zeroes of the polynomial p(x)=2x”+5x+k, satisfying the relation

. 21
a’+p°+ap =T,then the value of k 1s
a) | b)2 ¢)3 d)4

A quadratic polynomial whose zeroes are 5_3,/2 and §43./2 is

a) x*=10x+7 b) x*+10x+7 ¢) x*-5x+9 d) x* +5x-9

If o and g are the zeroes of the quadratic polynomial 2 _ 5y 4 k., such that o — 8 =1, then
k=

a) 2 b)3 c¢)4 d)6

What should be added to 2 _ 5x + 4 so that 3 is a zero of the resulting polynomial

a) 2 b) .2 ¢)& d)-—8

If @ and B are the zeroes of the polynomial 452 + py + ¢, then the value of o + f° is

b’ —ca b* —2ca b’ +ca b?+2ca
a) 2 b) 7] C) 2 d) 2
a a a a

If & and /3 are the zeroes of the quadratic polynomial p(x)=ax’ + bx +c.then o’ *+a’ B’

—bc —bc’ —ac —a‘’c
a) — b) =2 c) d) X
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A quadratic polynomial, whose sum of zeroes is 2 and product is —§ is
a) x2-3x-3 D) x’2x+8 ©) ¥*+3x+3 d) x>-2x-8\

1 1
If @ and S are the zeroes of quadratic polynomial p(x)=ax”+bx+c. then E+E—2ﬂﬁ

1S
—ab-2¢° ab+2¢? ab+b’ ] —c*+ab

a) ac b) ac 2 2c 2ac

If sum of the zeroes of the quadratic polynomial 352 _ jy +6 1S, 3, then the value of k 1s
a) 3 b)6 c)9 d) 0

1 1
If @ and 3 are the zeroes of quadratic polynomial p(x)=ax®+bx+c,then _* 3 IS

—b b =D —d

a) — b) - ) — d)

A quadratic polynomial, the sum and product of whose zeroes are (-3) and 2 respectively is
a) x> +3x+2 b) —x"—3x+2 ¢) x> +3x—2 d) None of these

If a, B are the zeroes of a polynomial such that ¢ + =6 and aff =4, then the polynomial 1s
a) x’-6x+4 b)—_x+6x-4 ¢) x> —6x—4 d)none of these

If one zero of the quadratic polynomial 2x* —3x+ p 1s 3, then its other zero is

a) =3, b) % OB A d) ~ Y4

If 1 is a zero of the polynomial p(x)=ax”—3(a—1), then the value of @ is

3 b) 2 -2 8>
a) ) ¢) 3 ) 5
If a,p are the zeroes of the polynomial 2y* +7y+5, the value of o+ S+ af is
a)0 b) 1 c) -1 d) 2
If one zero of the quadratic polynomial 2 _5x_¢ 1s 6, the other zero is
a)0 b) 1 c) —1 d) 2
Quadratic polynomial having zeroes ¢ and S 1s
a) x> —(af)x+(a+p) b) x* —(a+ pB)x+ap
o

c) X = §+ 2p d) None of these

. . 3 =L,
A quadratic polynomial whose zeroes are 5 and 51
a) 10x>+x+3 b)10x*+x-3 c) 10x> — x+3 d) 105" —x~3
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< The graph of y = p(x), where (x) 1s a polynomial. The number

0 > P of zeroes of the polynomial p(x) 1s
a)3 b)2 ¢)l d)nozero

—

Y
r!

If one of the zeroes of quadratic polynomial (k—1)x? +kx+1 is —3, then k=

4 —4 2 3
a) 3 b) 3 C) 3 d) 5
Sum of the zeroes of the polynomial x2 + 7x +10 are
a) 7 b) -7 c) 10 d) —-10
. : -13 3 _
A quadratic polynomial whose product and sum of zeroes are 5 and 5 respectively
a) k(x> +12x+5) b) k(x*-8x-9)

, 1 =7 5 3 -13
c) k[:c _EI?) d) k(x - ;+[ 3 D

If & and g are the zeroes of the polynomial px*-2x+3p and a+ f=af, thenp=

3 2
a)E b)g g)y3 #)2

Sum of the zeroes of the polynomial 252 _8x+6 1S
a) -3 b)3 c¢)—4 d)4

A
The graph y = p(x), where p(x) 1s a polynomial in

- \/ﬁ\vf“\ »  variable x, the number of zeroes of p(x) is

a2 Dbl3 ®)3 d)N

\J

[fzeroes of a polynomial p(x) are ./2 and _ /2, then the polynomial which is a factor of p(x) is

a) x> +2 b) x* -2 C) X—2 d) x+2
If ¢ and B are the zeroes of the quadratic polynomial ~ P(x)=x"-5x+4,

I 1
then i B 203 equals.

27 - 27
L OB B 2

PREPARED BY SIMI MANO |

(%] CamScanner


https://v3.camscanner.com/user/download

45.

46.

47.

48.

49.

50.

51

32,

i

54.

2.

1 1

If o and /3 are the zeroes of the polynomial p(x) = x? + px + ¢ . thena polynomial having — * 3

as i1ts zeroes 1s :

, px 1 , px | , px 1 , px 1
H)I-l-q q b)x q-l-q C)I q q d)x-l—q-l—q
If the zeros of the quadratic polynomial 4x? + px+¢: ¢ =0 are equal then
a) ¢ and a have opposite sign b) ¢ and b have opposite sign
¢) ¢ and a have same sign d) ¢ and b have same sign

The zeroes of the quadratic polynomial x2 499y 4127 are
a) both positive b) both negative c) one positive and one negative d) both equal

If one of the zeroes of a quadratic polynomial of 42 4 4y +p 1s the negative of the other,
then it

a) has no linear term and the constant term 1s negative

b) has no linear term and the constant term is positive

c) can have a linear term but the constant term 1is negative

d) can have a linear term but the constant term 1s positive

The zeroes of the quadratic polynomial x* + kx+x,k#0

a) cannot both be negative b) cannot both be positive

c) are always unequal d) are always equal

A Quadratic polynomial, the sum of whose zeroes i1s 0 and one zero 1s 3, is
a) x* -9 b) x*+9 ¢ x7+3 d) x*-3

If o, p are the zeroes of the polynomial f(x)=ax*+bx =c, then e + e

b* —2ac b’ —2ac b> 4+ 2ac b +2ac
a) > b) 2 C) 2 d) 2
a C a c

If &, B are the zeroes of the polynomial f(x)=x" - p(x+1)—c suchthat (¢+1)(f+1)=0,
then ¢ =

a) | b)0 c¢)_-1 d)2

If a,p are the zeroes of the polynomial f(x)=x"— p(x+1)—c then (a¢+1)(S+1)=
a)c-1 b)1-¢ c)c d)l+c

If o, B are the zeroes of the polynomial f(x)=x*+x+1,then é+ % =

a) l b) _1 c)c d)l+c
1 1

If ¢ and p are the zeroes of the polynomial p(x) = 4x* +3x+7,then —+ 5=

7 =7 3 —3

a) 5 B} ==~ +) e B
7
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If one zero of f(x)=(k*+4)x* +13x+4k isreciprocal of the other, then k=

a) 2 b)_»2 c)l d) _j
The minimum number of polynomials having zeroes as _9 and 5 is
a) 1 b)2 «¢)3  d)more than 3

If one of the zeroes of (k—1)x* + kx+1 1s — 3, then the value of k is

a) 4, b) =% c) % d) =%,

If sum of the squares of zeroes of the quadratic polynomial f(x)=x*—8x+k 1s 40, find the
value of k

a) 12 b) 13 c) 10 d) 11

If the squared difference of the zeroes of f(x)= % px +45 1s equal to 144, find the value of
p.

a) +18 b) +12 c) +15 d) 12
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